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PART A: Vocabulary
| Directions: Choose the word or phrase (1), (2), (3), or {(4) that best completes each |

sentence, Then mark your answer sheel,

1- Being an honest person, she was unwilling to ---------- Peter in the swindle he had
planned.
1) confirm 2) abet 3) jeopardize 4) impede

2- The girl is surrounded by so many possessions that testity to her family's ——-———---.
1) opulence 2) activism 3) propensity 4) elitism

3- The physician advised the --—--— man to lose weight if he wanted to not be afflicted
with different medical complications.
1) craven 2) sturdy 3) immense 4) obese

4- Enlightened slave owners were willing to ---=---u-- their slaves and thus put an end to
the evil.
1) initiate 2) emancipate 3) efface 4) reject

5- One of the most striking aspecis of Indian culiures was the production of ceremonial
costumes and ornaments worn during religious ----—e---,

1) rituals 2) subtleties 3) fashions 4) prefaces

6- The Clarks’ —-——- spending habits have put them in debt.
1) extemporancous 2) divisive 3) extravagant 4) passionate

7- The people who had lost their homes in the fire tried to -—-——- whatever was
salvageable from the ruins of that fire,
1) confront 2) extinguish 3) exclude 4) glean

8- The new study will test different doses for safety. And scientists should be able to tell if
the antibodies -—----—- some of Alzheimer’s devastating mind-robbing symptoms,
1) emerge 2) predict 3) alleviate 4) precede

9- Coaches often tell their players that a little nervousness is good because it keeps them
on their ———-—--- .

1) limbs 2) loes 3) fingers 4) feet
10- Without liquids or food, people typically -——----—- after 10 to 14 days.
1) diminish 2) recede 3) falter 4) perish

PART B: Cloze Passage

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best

[fits each space. Then mark yvour answer sheet.

Like most people, students tend to be overconfidemt about newly leamed skills. This seli-
assessment problem can occur because the common educational practice of “massed training”

promotes rapid acquisition of a skill—and self-confidence—but (11} ==-sameee retention of that
capability. In mass training. instructors teach students in onc or a few inlense sessions.
Students (12) =--eeaeeee such instruction quickly obtain the relevant knowledge. Yet skills taught
in this way tend to decay rapidly, (13) --—-—---- - people remain unaware of this fact. (14) —---— --
more evident than in driver education. Although millions of dollars (15) -s==es==== on such
courses, they do not, the data suggest, produce safer drivers.
11- 1) not necessary for the 2) necessarily none of the

3) not necessarily the 4) for no necessary
12- 1) undergo undergone 3) by undergoing 4) undergoing

2)
13- 1) although 2) however 3) so that 4) then
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14- 1) Nowhere might this problem be 2) This problem nowhere might be
3) Nowhere might be this problem 4) Nowhere this problem might be
15- 1) spent 2) are spent 3) being spent 4) that are spent

PART C: Reading Comprehension

Directions: Read the following three passages and choose the best choice (1), (2), (3), or (4)

that best answers each question. Then mark it on your answer sheet.

Passage 1

The term "direct dve application” stems from some dyestull having to be either fermented as in
the case of some natural dye or chemically reduced as in the case of synthetic vat and sulfur
dyes belore being applied. This renders the dye soluble so that it can be absorbed by the fiber
since the insoluble dve has very little substantivity to the fiber. Direct dyes. a class of dves
largely for dyeing cotton, are water soluble and can be applied directly to the fiber from an
aqueous solution. Most other classes of synthetic dye. other than vat and surface dyes, are also
applied in this way,

The term may also be applied to dyeing without the use of mordants to fix the dye once it is
applied. Mordants were often required to alter the hue and intensity of natural dyes and
improve color fastness. Chromium salts were until recently extensively used in dying wool
with synthetic mordant dyes. These were used for economical high color fastness of dark
shades such as black and navy. Environmental concerns have now restricted their use, and they
have been replaced with reactive and metal complex dyes that do not require mordant.

16- The word "stems" in paragraph 1 is closest in meaning (o —-—==e-,

1) varies 2) composes 3) originates 4) diverges

17- According to paragraph 1, the insoluble dye -=-==-----,

1) is not easily and firmly attached 10 the fiber

2) is a byproduect of direct dye application

3) has alrcady been soluble

4) sticks to cotton well

18- The word "vat" in paragraph 1 most probably refers to a kind of --———-,

1) dving mechanism  2) synthetic dye 3) natural dye 4) fiber

19- It can be understood from the passage that mordants -----—----,

1) are almost always used in the process of fixing dyes on fabrics

2) enjoy the hue and intensity of natural dyes

3) can be used to set dves on fabrics

4) slow down the process of dving

20- According to the passage, all of the following are true about chromium salts EXCEPT
that they =--eeeeeee .

1) are in a way associated with the application of dark colors

2) were used more often than they are today

3) are not environment-friendly

4) are of widespread use
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Passage 2

The ability of a fiber 10 absorb shock and recover from deformation and to be generally
resistant to abrasion forces is important to its end-use and wear characteristics. In consumer
use, fibers in fabrics are often placed under stress through compression, bending, and twisting
(torsion) forces under a variety of temperature and humidity conditions. If the fibers within the
fabric possess good elastic recovery properties from such deformative actions, the fiber has
good resiliency and better overall appearance in end-use. For example, cotton and wool show
poor wrinkle recovery under hot moist conditions, whereas polvester exhibits good recovery
from deformation as a result of its high resiliency. Resistance of a fiber to damage when
mobile forces or stresses come in contact with fiber structures is referred to as abrasion
resistance. If a fiber is able to effectively absorb and dissipate these forces without damage. the
fiber will show good abrasion resistance. The toughness and hardness of the fiber is related to
its chemical and physical structure and morphology of the fiber and will influence the abrasion
of the fiber. A rigid, brittle fiber such as glass, which is unable to dissipate the forces of
abrasive action. results in fiber damage and breakage. whereas a tough but more plastic fiber
such as polyester shows better resistance to abrasion forces. Finishes can affect fiber properties
including resiliency and abrasion resistance.

21- What is the best title for the passage?

1) Deformation of Fibers

2) Fibers and Their Damage Sources

3) Fiber Resiliency and Abrasion Resistance

4) Ways to Combat Fiber Shock and Deformation

22- The word "propertics" in line 5 could best be replaced by ——emeeaee,

1) constituents 2) market values 3) reverberations 4) traits
23- According to the passage, wool --=-==--—,

1) has acceptable recovery power

2) reveals the best overall appearance in end-use

3) should be stored in hot moist places when wrinkled

4) has weak wrinkle recovery power under certain circumstances

24- According to the passage, when a fiber is fragile, it
1) is necessarily stiff as well

2) withstands the forces of abrasive action

3) easily deters fiber damage and breakage

4) is 1o undergo physical and morphological changes

-
L]

25- The passage is primarily written to —-----—--,
1) criticize 2) compare and contrast 3) inform 4) alarm
Passage 3

The basic materials needed to construct e-textiles. conductive threads and fabrics have been
around for over 1000 years. In particular, artisans have been wrapping fine metal foils. most
often gold and silver, around fabric threads for centuries.

At the end of the 19th century, as people developed and grew accustomed to electric
appliances. designers and engineers began to combine electricity with clothing and jewelry—
developing a series of illuminated and motorized necklaces, hats, broaches and costumes.

In 1968, the Museum of Contemporary Craft in New York City held a groundbreaking
exhibition that focused on the relationship between technology and apparel. The show featured
astronauts’ space suits along with clothing that could inflate and deflate, light up. and heat and
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cool itself. Particularly noteworthy in this collection was the work of Diana Dew, a designer
who created a line of electronic dresses and belts that could sound alarm sirens.

In 1985, an inventor by the name of Harry Wainwright created the first fully animated
sweatshirt consisting of fiber optics, leds, and a microprocessor to control individual frames of
animation resulting in a full color cartoon on the surface of apparel. Wainwright went on o
invent the first machine in 1993 enabling fiber optics to be machined into fabrics, the process
needed for manufacturing enough for mass markets and hired a German machine designer,
Herbert Selbach, from Selbach Machinery to produce the world's first CNC machine able 1o
automatically implant fiber optics into any flexible material in 1997,

26- The information in the passage is primarily organized based on -

1) chronology 2) analogy 3) appeal to authority 4} causation

27- It can understood from the passage that e-textiles —--—---,

1) are confined to clothing including jewelry

2) are as old as the profession of ¢loth production

3) go back to a time when clectricity was known and used

4) practicality took precedence over aesthetic considerations

28- The phrase "The show" in paragraph 3 refers to -===-seev-,

1) outside appearance

2) a particular exhibition

3) a Museum in New York

4) the relationship between technology and apparel

29- The passage contains sufficient information that answers all of the following questions

EXCEPT:

1) Why did people in the 19" century come to like electric appliances?

2) Who invented the machine able to fiber optics to be machined into fabrics?

3) What entity held an exhibition in 1968 that focused on the relationship between technology
and apparel?

4) What was in the sweatshirt created by Wainwright that allowed control of individual frames
of animation resulting in a full color cartoon on the surface of apparel?

30- The passage most probably continues with a discussion of «=esesees,

1) the prospects of e-textiles

2) how fiber optics actually work

3) how extraordinary Harry Wainwright was

4) something about the world's first CNC machine
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